January 13, 2017

6-2 Geometric Sequences

Objectives:
I can write the recursive and explicit form of a pattern, table,

story, etc. -
£ (), £(- )




January 13, 2017

At the At one minute At two minutes
beginni
———
0000
0000
0000 0000
0000 0000
0000 0000
0000 o000
0000 o000 0000 0000
0000 o000 0000 o000
At three minutes At four minutes

1. Describe the pattern that you see in the seglence of figures

bove. TS| D |\ G| 12 24148
TM{XO \’ (2 \5 A

2. Assuming the sequence continues in the same way, how many

dots are there at 5 minutes? q ko




January 13, 2017

3. Write an equation to represent the pattern

eyplicit n RecutS 1k
'(:("\>=Z 4—5 (= —Q&\’I\'Z

%%—%mé‘ iH)=5
4. ak_ez a table of values’ggdgraph




January 13, 2017

>Kocabulary

Geometric: $€9 senie 4t mwlﬂilth
Initial Value: ("X y4h8 @ 4<¢eM

Common%;\cﬁ)g:r : an_"(' W‘V\’H'P’V_) b

Explicit F
pelmlictpunctions 0 (Yo o) - 7

Recursive Function:

ncatzd ) ' Q("ﬂ we(n—D 'S
QN
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Q 4,8,16,32, (04 N8 190
0* |Zommon Factor: Z: r a g l
Explicit: ’p {h) Z

Recursive:‘c ("\77 ( (n - l> ' Z
€(0)=)

EX. Using the warm-up question, build a table:
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Initial Value: A a g 8

x 0 1 2 3 4 /
Common Factor: ’2— \(

Explicit: ,(\(h) 8 (_{)
Recursive:@(‘ﬂ)'—’((ﬂ‘l) /2

Tk @(03:8

y 8 4 2 1 1/2




January 13, 2017

Initial Value: Z— O

Common Factor: 72
& 2
Explicit:p(n) =2 3

Recursive: ’C(VO '——C/V}' /> 3 3
f10)72

18

162

486
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Find the 20th term of the sequence

i 141604 D H8T17065100
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Find the 25th term of the sequence

L3 6,12, ..

’l'6 -2 '7 '2

&(*—”6
A
cn)=-1.5- Z
(o) :=-1.5- 2
_ -3 3D\ AR
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Determine the number of terms in the sequence
1, 3,9, 27,...,6561

g1,243,729,2187

Ok
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Determine the number of terms in the sequence

46
8200, 2400, 1200, ..., 75

L 00,200,150
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EX. Scott decides to add running to his exercise routine and
runs a total of one mile. He plans to double the number of miles

he runs each week. wMJ‘ / wile§
(
‘ .
Initiﬂ/alue: / 2 7 Z
Com\rgon Factor:_?__ A 2 |14 —
Yzplicit_£(n)=.5 -2 ﬂ 5
Recursive:£ (N )= £ (- ) - <2

Elo)= O.5
How many miles will he be running by week#&? (()7

4% = S\
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Allowance Task:

It's getting close to your 16™ birthday and you have been trying to
save some money so you can buy a car. As of now, your efforts
have not brought in very much cash. You have been mowing
lawns and also collecting an allowance from doing chores around
the house. The car you want is $3,000. You have two different
plans to try to get a new car in the next month:

Plan 1) Ask your parents to give you $100 dollars every day you
do chores

Plan 2) Ask your parents for a new allowance where you will do
the dishes every night for 1¢ on the first night, 2¢ on the second
night, 4¢ on the third night, and so on for a whole month.

A) Which plan do you think your parents will agree to?

B) Write an equation for the first plan. How much money will you
earn after 30 days?

C) Write an equation for the second plan. How much money will
you earn after 30 days?
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